ECE 342
Electronic Circuits

Lecture 18
Common Emitter — Part 2

Jose E. Schutt-Aine
Electrical & Computer Engineering
University of lllinois
jesa@lllinois.edu

ECE 342 - Jose Schutt-Aine

cor
) i 1d Computer Engineering
linois at Urbana-Champaign

X I
University of Il



CE with External Resistors
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CE with External Resistors
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CE with External Resistors
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CE with External Resistors

The gain can be written as:
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Example

Given Vgegon=0.6V, find the gain for the circuit shown

12V

é Voo =15V

Voo =15V —0.6V =0.9V

0.9 0.9
| = = =0.9mA
~rre
EUE I(LGINROIgS ECE 342 - Jose Schutt-Aine 6



Example (Cont’)

. =09mMA=>YV =12V -0.9%x10=3V

outQ

AC analysis: Rg, is shorted and R.=Rg,=100Q. Since fis not
known, use:

aR .
Ap=——"- with a=1
Reg +,

V 26
r=—=—=28.80Q
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= =775 =775
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